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1.1.4 3 1 ¥ .

SUBROUTINE LEING(N,M,B,Q,S)
INTEGER B(N,M), Q(N), L40), P, S,C,D, B
C=1

S=0

DO11I=1,N

Q=0

DO 101=1,M

.

pos3I=1,N

1IF(B(1,]).NE.1)GOTO 38

PMD) =1

D=D+1

CONTINUE

Ii=P)

I2=P(2)

E=QD

D=Q(12)

IF(E.NE.D)GOTO §

IF(E.EQ.0)GOTO 4

Ld)=E

GOTO 10

Lh=C

Qdn=C

Ql2)=C

S=5+1

C=C+1

GOTO 10 .
IF(E,NE.0)GOTO 6 '



<

10

L3 =Q2)

QUIn=QU2)

GOTO 10

IF(D.NE.0) GOTO 7

L =QdIn

Qdz)=Qdun

GOTO 10

DO g K=1,N
IF(Q(K)Y.,EQ.E) Q(K)=D
CONTINUE

DOg K=1,]
IF(L(K),EQ.E) L(K)=D
S§$=85~-1

CONTINUE

RETURN

END
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Co e vn e RGN AT - e e AT o

11000000000
10100000000
01110000000 |
00001110000

B(I,J):;OOOOOIOIOOO
00010000110
00000011000
00000000011
00000000101
00001000000

2) itERRF

INTEGER B(20,30) Q(zo)

WRITE(7,1)

READ(S5, )N

WRITE(7,2)

READ(, )M

FORMAT(1X,’N=")
FORMAT(X,’M=")
CALL LEIN(N,M,B,Q
STOP .

END

SUBROUTINE LEIN(N,M,B,Q)
INTEGER B(N,M),Q(N),S
WRITE(7,1)

DO21TI=1, N

READ,6) (B(,D), I1=1,M)
FORMAT(3011)

WRITE(,1)



1 FORMAT1X,’B,I)=")

- DO 71=1, N
7 WRITE(s,8) (B(,]),J=1,M)
FORMAT (1X,3013)
' CALL LEING(N,M,B,Q,S)
WRITE(6,3)S
3 FORMAT(1X,’S=",13)
- WRITE(6,4) (1,I1=1,N)
4 FORMAT@(1X,’I= ’,20I3)
WRITE(6,5) (Q(1),I=1,N)
5 FORMAT(1X,’Q(I) =/,2013)
RETURN
END
3) IHHER
(1)
S=4
I= 1234567829 10

QI)=1223412334

(2)
S5=2
I= 12345678910
Qhb=1111222222
(3)
S=2 ‘ S
I= 12345678910

QD =1112212112
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SUBROUTINE CCM(N,M,A,C,MC)

INTEGER A(N,M), C@30,M), P(50,2),
# T(s0, 2), V(50,2), G(50,2), S0

Ni=N-1

DO11=1, 50

DO 1 =1, ¢

P,=0

G,I)=¢

T,I)=0

Vi, =0

DO3I=1, M

K=p

DO 2 }J=1, N

IF(AU,D.EQ.0) GOTO 2

K=K +1

P¢(I,K)=]

T(,K)=1]

V(I,K)=]

IF(K.EQ.2) GOTO 3

CONTINUE

CONTINUE

I=0

DO41=1, M |

IF(V1,1)¥Vv(,2.EQ.1.0R.V(,1),NE,
# 1.AND.V(,2).NE.1) GOTO 4

IJ=Jl+1

Gl,1)=T(,1)



